Algebra and Trigonometry — Joysheet 8 | Name: 5- “*“f OQ"M
MAT 150, Fall 2017 — D. Ivansié¢ Covers: 5.1-5.8 Show all your work!
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1. (6pts) The graph of a function f is given. 1 (5)
a) Is this function one-to-one? Justify.

b) If the function is one-to-one, find the graph

of f~1, labeling the relevant points.
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2. (12pts) Let f(z) = 2% — 7, considered for domain = < 0.
a) Find the formula for f~1.
b) Find the ranges of f and f~'.
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3. (8pts) Evaluate without using the calculator. Show how you got the numbers.
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4. (4pts) Use the chang&ofi:asei‘ﬂrmula 2-2- 4
and your calculator to find log, 18 with ac- 3
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5. (7pts) How much should you invest in an account bearing 2.25%, compounded monthly,
if you wish to have $3,000 in two years?
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6. (6pts) Find the domain of f(z) = 6r — 25 "

ML;‘F b ane s '3-24'79 Cen't have: Gi=3§=0 2 /%3
L ¢
AL €e=2S (-51., 3)
3 £ 74% {9
L S s

7. (8pts) An object weighing 2000 kilograms moving at velocity v meters per second has
kinetic energy E(v) = 1000v® Joules.

a) Determine the kinetic energy of the object if it is traveling at 10 and 20 meters per second.
b) Find a formula for the inverse function and explain what it represents.

¢) Determine the velocity of the object if its Kinetic energy is 150,000 and 300,000 Joules.
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8. (9pts) Using transformations, draw the graph of f(z) = 7 — €%%*. Explain how you
transform the graph of a basic function in order to get the graph of f. Show at least one
point on the graph, and asymptotes to the graph, if any.
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